

-9

$$\begin{aligned} x=0 \rightarrow f(0) &= (a+1)V = Va + V \Rightarrow 2f(0) = f(-1) + a \\ x=-1 \rightarrow f(-1) &= Va - 1 \\ 1(a+1)V &= Va - 1 + a \\ 10a &= -11 \rightarrow a = -1/11 \end{aligned}$$

5

-V

$$\begin{aligned} f(x-\sqrt{y}) &= \sqrt{x-\sqrt{y}} + \frac{1}{\sqrt{x-\sqrt{y}} \times \sqrt{y-\sqrt{x}}} + y = \sqrt{x-\sqrt{y}} + \sqrt{y-\sqrt{x}} + y \\ f(x+\sqrt{y}) &= \sqrt{x+\sqrt{y}} + \frac{1}{\sqrt{x+\sqrt{y}} \times \sqrt{y+\sqrt{x}}} + y = \sqrt{x+\sqrt{y}} + \sqrt{y+\sqrt{x}} + y \end{aligned}$$

5

$$A^2 = (\sqrt{x-\sqrt{y}} + \sqrt{y+\sqrt{x}})^2 = x-\sqrt{y} + y+\sqrt{x} + 2\sqrt{(x-\sqrt{y})(y+\sqrt{x})} = 9 \Rightarrow A = \sqrt{9}$$

-11

$$\begin{aligned} 2f(x) - 3f(-x) &= 4x^2 - x \xrightarrow{\times 2} 4f(x) - 6f(-x) = 8x^2 - 2x \\ -3f(x) + 2f(-x) &= 4x^2 + x \xrightarrow{\times 3} -9f(x) + 6f(-x) = 12x^2 + 3x \\ -5f(x) &= 10x^2 + x \rightarrow f(x) = \frac{10x^2 + x}{-5} = -2x^2 - \frac{x}{5} \end{aligned}$$

-9

$$\begin{aligned} x=0 \rightarrow 2f(0) &= 3m-1 \xrightarrow{\times -3} -6f(0) = -9m+3 \\ x=-1 \rightarrow 4f(0) &= \frac{14+3m+3m-1}{5m+10} \left\{ \begin{aligned} 4f(0) &= 5m+10 \\ 0 &= -4m+11 \rightarrow m = \frac{11}{4} \end{aligned} \right. \Rightarrow 2f(0) = \frac{3V}{V}-1 \\ f(0) &= \frac{3V}{2} \end{aligned}$$

-10

$$\begin{aligned} x=-1 \Rightarrow f(-1) + f(-1) &= \frac{3+12+3}{-1} \Rightarrow 2f(-1) = -18 \\ f(-1) &= -9 \end{aligned}$$

الف) $\frac{x-1}{x} - \frac{x}{x-1} \geq 0 \rightarrow \frac{x^2 - 2x + 1 - x^2}{x(x-1)} \geq 0 \rightarrow \frac{-2x + 1}{x(x-1)} \geq 0$

Number line: $-\infty \quad 0 \quad \frac{1}{2} \quad 1 \quad +\infty$
 Signs: $+$ $-$ $-$ $+$ $-$
 $\rightarrow (-\infty, 0) \cup [\frac{1}{2}, 1) = D_f$

f) $\begin{cases} x \neq 0 \\ x+1 \neq 0 \rightarrow x \neq -1 \\ x-1 \neq 0 \rightarrow x \neq 1 \\ x+2 \neq 0 \rightarrow x \neq -2, \frac{3x+4+x-1}{(x-1)(x+2)} \neq 0 \rightarrow x = -\frac{5}{2} \end{cases} \Rightarrow D_f = \mathbb{R} - \left\{0, -1, 1, -2, -\frac{5}{2}\right\}$

$\left(\left(\frac{1}{x}\right)^x - 9\right)(x^2 - x^4) \geq 0 \rightarrow \frac{-\infty \quad -2 \quad \frac{5}{2} \quad +\infty}{+ \quad - \quad - \quad +} \rightarrow D_f = (-\infty, -2] \cup \left[\frac{5}{2}, +\infty\right)$

ب) $\sqrt{y+1} = -\sqrt{x-1} + 3$
 $x-1 \geq 0 \rightarrow x \geq 1$ (I)
 $3 - \sqrt{x-1} \geq 0 \Rightarrow \sqrt{x-1} \leq 3 \Rightarrow 0 \leq \sqrt{x-1} \leq 3 \Rightarrow (I) \cap (II) = D_f = [1, 12]$
 $\sqrt{x-1} \leq 3 \Rightarrow 0 \leq x-1 \leq 9 \Rightarrow 1 \leq x \leq 12$ (II)
 جواب را یک د و مثبت
 را د یک د که نشیون منفی باشد

$x^2 - 1 \geq 0 \rightarrow x^2 \geq 1 \begin{cases} x \leq -1 \\ x \geq 1 \end{cases}$

$x^2 - x - 2 > 0 \rightarrow (x-2)(x+1) > 0 \rightarrow \frac{-\infty \quad -1 \quad 2 \quad +\infty}{+ \quad - \quad + \quad -} \rightarrow (-\infty, -1) \cup (2, +\infty)$

Number line for $D_f = [1, 2)$

$D_f = (-\infty, -1) \cup (2, +\infty)$ (1,0)

$x=2 \rightarrow -4 - 2a + 3 = 0 \Rightarrow -2a = 1 \rightarrow a = -\frac{1}{2}$
 $-b^2 - \frac{1}{2}b + 3 = 0 \Rightarrow b^2 + \frac{1}{2}b - 3 = 0$
 $(b + \frac{3}{2})(b - 2) = 0 \Rightarrow \begin{cases} b = -\frac{3}{2} \rightarrow -\frac{3}{2} \neq -1 \\ b = 2 \rightarrow 2 \neq -1 \end{cases} \Rightarrow$

$a+b = -\frac{1}{2} + \frac{3}{2} = 1$

$f(x) - x \geq 0, \sqrt{15x - 2 - x} \rightarrow 15x - 2 - x \geq 0 \rightarrow 14x \geq 2 \rightarrow x \geq \frac{1}{7}$
 $f(x) \geq x \rightarrow \sqrt{15x + 3 - x} \rightarrow 15x + 3 - x \geq 0 \rightarrow 14x \geq -3 \rightarrow x \geq -\frac{3}{14}$
 $\Rightarrow D_f = [-\frac{3}{14}, +\infty)$